Help the old King

Once upon a time there lived a king in a far far country. In the country, there are n cities and m
roads. He was severly attacked by his enemy. The enemy damaged all the cities of King's
country. As the roads between the cities had been damaged, the King wanted to repair those. So
he decided to launch a tender for this.

As King's country is a well managed country. By well managed country, we mean that it is
possible to go from each city to any other city. But now as the city has been destroyed by
enemies, all the roads are broken, the king will like to rebuild the roads in such a way that it is still
a well manged country.

Cost of repairing the road in the country is really wierd, it is not addition of costs but it is instead
multiplication of those. What it means that if the king decides that he should repair 5 roads, then
total cost of repairing those roads will be multiplication of all the 5 costs.

As the King's treasure has been damaged by the attack of foreign city, he would like to spend
minimum amount of money and that the will want that his country still remains well managed
country. Surprisingly the company that was given tender had a rule that all the costs will be in
powers of two, as they were really love with binary numbers.

As value of the total cost can be really large. We do not want to know the actual cost, instead
output number of divisors of the number.

Input

T: number of test cases (T <=5)
nand m (n <=10"5 && m <=2 * 10"5)

Next m lines will have a, b, ¢, which denotes that cities a and b are connected with road of cost c.

(c>=2 && c <= 10718 && c will always be power of2) (1 <=a<=n)and (1 <=b <=n)
Output

For each test case, output a single line containing a number as stated in the problem..
Example

Input:

4

21

1216

32

2332



1216
33
2332
1216
1364
55
122
232
134
3416
358

Output:

10
10

10
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